A& ol

20258 = =0llah AT

SHAE S E A A

200 M2S
2210 ZARAIRISY
& 216 OIXt2 (&
o @odo 5 Ol &F of & E & 0] AkoH Hu=s2
z 26,250, 180 9,364,324 16,885,8%6
200 M2l 159,770 28,615 131,155
210 ZAXAI2I 100,000 10,000 90,000
216 Ol Xt 100,000 10,000 90,000
216-01 330201 X4 100,000 10,000 90,000
< CAITHA D > 100,000 10,000 90,000
OZB30I2 0IXt2 100,000,000& %13 100,000
230 KNLSHFHN - 23 59,770 18,615 41,155
06 22 59,770 18,615 41,155
23601 22 59,770 18,615 41,155
< SAITHA D > 59,770 18,615 41,155
Z2CIRFQI(2HE) HAAIY KRS
5,000,000 *10%+405 20,000
OSEZ2 £HAIY RS 20,000,000 *10%* 115 22,000
Onels B4l XA I3 17,770,000 17,770
50 BX3 24,342,420 4,745,500 19,596,920
510 2NEX3S 19,945,100 2,895,000 17,050, 100
511 2NEX3ES 19,945,100 2,895,000 17,050,100
511-02 XIS DEHYRNSHHEEX2 19,945,100 2,895,000 17,050, 100
< SAITHA D > 19,945,100 2,8%,000 17,050, 100
ODAXNA TAITHM S A 2,383,000,0002 2,383,000
OSH(20]) SAITHA SAIX7 17,562, 100,000 17,562,100
50 Al - SHIBXZ2E 4,397,320 1,850,500 2,546,820
521 Al - SHIBX3E 4,397,320 1,850,500 2,546,820
521-01 Al - THIBXSE 4,397,320 1,850,500 2,546,820
< SAITHA D > 4,397,320 1,850,500 2,546,820
ODAXNA TAITHA S A 467 ,400,0002 467,400
OR0IXS(LEZRIE)HIIHES SAIHMALY
72,500,000 72,500
ORESKY BIHES TAITHAALY
345,000,0002 345,000
OSH(20]) SAITHA SAIX7 3,512,420,0002 3,512,420
700 BESASLHEHN 1,747,990 4,590,209 N2,842,219
710 2&%US 400,000 400,000 0
711 202 400,000 400,000 0
71101 =HHLH2 400,000 400,000 0
< SAITHA D > 400,000 400,000 0




& 700 28 SHUE N
2t 710 BdYS
g 711 0= EERCE
g-2-8.5 Ofl & oH HE 0l At Husz
O=AALNH= 400,000,000 400,000
720 LW A CH 1,347,990 4,190,209 02,842,219
721 des 1,347,990 4,190,209 N2,842,219
721-03 DBt AN Y =S 1,347,990 4,190,209 12,842,219
< EATHADE > 1,347,990 4,190,209 12,842,219
OgetslH M= 1,347,990,000& 1,347,990




H & 0l & AHS B Ml A

A SAITHAE D
M OHNGHD HElst SAIZEEH
Gl CAIZHYA A EX(ZAITHA) (o) &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
AL TH24 10 26,250,180 8,660,313 17,589,867
= 19,945,100
== 4,397,320
Al 1,907,760
oHMGH) Helgt TAIZEEd 25,664,062 6,339,780 19,324,282
= 19,945,100
< 4,397,320
Al 1,321,642
CADEEE AY FE(ZAITHA) 25,664,062 6,339,780 19,324,282
= 19,945,100
== 4,397,320
Al 1,321,642
SATHY SHAXF(RE A3 X4) 21,074,520 2,101,200 18,973,320
= 17,562,100
= 3,512,420
403 AXIEHMSAH=0IH 21,074,520 2,101,200 18,973,320
= 17,562,100
== 3,512,420
02 SO 2SO et =& 2 EF A I 21,074,520 2,101,200 18,973,320
ORd #4T3 X4
21,074,520,000& 21,074,520
[ 17,562,100
== 3,512,420
=28 ZAIHY =E A 34,3% 169,078 A134,722
201 =3 33,636 132,124 N\098,488
01 At22t2lH] 26,400 92,084 65,684
O XIAHE S|
50,0003 x1&*122+0.8 480
Od=ES NFESHE S FA2el| 25,920
—As2 160,000& 122 1,920
—&aze| 1,600,000& ~12& 19,200
-2 200,000 * 122 2,400
—2elE 2,400,000 2,400
02 S3=gl 7,236 8,040 N804
OBINAME U FUHE HPAL 22
apedull 7,236
—Stes 48,0003 101 2+ 128 576
-8 2= 460,000 * 1 2+ 12 5,520
—N5H4E 23
95,000 1 A+ 122 1,140
202 O] 720 2,304 1,584
01 2L AL 720 2,304 A1,584
MR=sSHENAME 2IHZ2Y 20
o4l 120,000& x 12 %122 +0.5 720
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A ZAITH 4
M OHNGHD HElst SAIZEEH
ol TAIZEZE ALY = (TAIKIA) (ol 29
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
DX A (LB EE) SAHY LA 2,919,059 1,761,687 1,167,372
= 2,383,000
== 467,400
Al 68,659
201 =3 294,860 471,74 A176,934
= 205,000
=S 45,000
Al 44,860
01 At 22|l 10,860 98,94 88,134
Ot A= 1,700
— 2B A 100,0003*3& *13] 300
—E4d4aM 100, 0003 »7 & »23] 1,400
Osldgsit ¢
11,0003 20 * 1A 2% 102 2,200
OLNZHEXHHE 2SH|
500,000 * 122 6,000
OLZHEXAHME SAHI
50,0002 x2&»12&+0.8 960
03 A= SHI 284,000 365,000 81,000
OUA 23t 243l 110,000
—lclE 23 =AM 20,000,000 20,000
—&ALZ23H0I0P)| g=E sS4
90,000,000 90,000
s 75,000
== 15,000
Olels =sHl g4d3st 25,000,000 25,000
= 25,000
Olicle &d 43 T2 91,000
—aoIgegdst 70,000,000 70,000
[ 50,000
= 10,000
Al 10,000
—S3 & 2 BIIHE 21,000,000 21,000
= 19,000
= 2,000
Ol1el=s oted 58,000
— &=y u=F 22,000,000 22,000
s 15,000
s 7,000
e wE € 24 36,000,000& 36,000
= 21,000
= 11,000
Al 4,000
202 04t 1,440 3,456 N2,016




A ZAITH 4
M OHNGHD HElst SAIZEEH
Gl CAIZHYA A EX(ZAITHA) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 1,440 3,45 N2,016
O AHME SIIMSFE =L
120,000 x2&*12&%0.5 1,440
301 EtE2 NS 3,200 6,000 /2,800
11 #AIAHIXIZ = 3,200 6,000 A2,800
OZ0IMQIEN HUsHATS)
3,200,000& 3,200
307 212+01& 35,000 41,000 26,000
= 14,000
=S 3,000
Al 18,000
02 QB HANEER 35,000 41,000 26,000
OFUSE2AE 10,000,000 10,000
OulsEESEE S8 g
25,000,000 25,000
= 14,000
== 3,000
Al 8,000
401 AlEHIZL SO 2,584,559 1,239,437 1,345,122
= 2,164,000
== 419,400
Al 1,189
01 Al&HI 2,583,400 1,198,872 1,384,528
OFRLIANEEHE =4
1,925,400,000& 1,925,400
s 1,676,500
s 248,900
Oilels &=l N& 161,000,000 161,000
= 132,000
= 29,000
Ostu ¢ 33 ey =4
271,000,000 271,000
= 183,500
=S 87,500
OHAL & HAsH A 51,000,000& 51,000
= 24,000
< 27,000
Olclss=AE &FHd
175,000,000 175,000
= 148,000
= 27,000
03 Al 2CHYI 1,159 8,972 A7,813
OFR|LUANEEHH &4
1,159,000& 1,159
A 2E 21,627 123,815 /102,188




A ZAITH 4
M OHNGHD HElst SAIZEEH
Gl CAIZHYA A EX(ZAITHA) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 12,250 101,278 /89,028
01 At2teltl 9,720 77,120 A\67,400
O AMNYXHME 2SI 3,360
—2Bt=Shl 1,060,000& 1,060
— e 01 &l 500,000 #4042 2,000
—A=g 100,000 «3 * 1Al 2 300
OZAMEXHHE SAHI
50,0002 x2&»12&+0.8 960
OZAIMY HBAIE X2l
200,000 * 122 2,400
ORHGEAAANY Ex3 Fbt - S ==
= 3,000,000& 3,000
2 35244l 2,530 4,158 N 1,628
O&sitg FAlHI 2,530
— XS XAl 80,0002 1CH 80
—NSXEE=E 350,000 *1CH 350
—8J|, S&EAM 100,000 *1CH 100
—=cl, 254l 2,000,000 *1CH 2,000
202 04l 3,600 5,760 A2,160
01 =LHA LI 3,600 5,760 2,160
OFAMNEXNHME HIMSFE =LHOH
120,000 x6& *12&%0.5 3,600
203 =4l 7 7
03 A= E =AY 7 r
OZANY 2SXd 24
777,000 r
401 AIEHIZL S0 5,000 16,000 211,000
01 Al&H| 5,000 16,000 A11,000
OZ A ALY FXl2cl
5,000,000& 5,000
HEESXNE TAITHHAL 1,396,440 1,750,000 353,560
=S 345,000
Al 1,051,440
201 fer=3| 166,440 230,000 63,560
== 165,000
Al 1,440
01 AtR2t2lt] 64,240 75,200 10,960
OdAt & Ti2+d S 2,550
— LB A 1,500,000& 1,500
= 1,500
—E4uM 1,050,000 1,050
= 1,050
O XIJHE 24| 21,490
—2ot=2H| 250,000 122 3,000
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A SAIT A
M. OHMBD Helst TAZEYH
O TAIZSEEE A =X(ZAIA) (St &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
= 3,000
-S4z MEUI 4,810,000& 18] 4,810
= 4,810
—gdx= 880,000 x1JH Ax 12 10,560
= 10,560
—ateldl 60,0003 x 10 A+ 122 720
& 720
—£0o1&d| 200,000 x 11 A+ 128 2,400
& 2,400
OHEEA HEANE 2Z 38,760
—2Adxt= 30,360,000 30,360
& 30,360
—2t2| ] 6,000,000& 6,000
= 6,000
— 201l 200,0002 x 1 2+ 123 2,400
= 2,400
O EXNEHH sS44I
50,0002 *3Z*12&*0.8 1,440
02 2324l 7,200 4,800 2,400
OEXNALH 222 1,800
—MIe3 100,0002 x 1 2+ 123 1,200
& 1,200
—sSte3 50,0003 * 14 2+ 128 600
= 600
OHEEES HEANE 2322H| 5,400
—&J|1e32 100,000 6K 2= +8 4,800
& 4,800
—3tRe3 50,0003 * 104 2+ 128 600
= 600
03 A2 G| 95,000 150,000 255,000
OX e HAH T2
50,000,000&*13l 50,000
= 50,000
Ozl er2st 45,000,000& *12] 45,000
= 45,000
307 QI2Hol M 100,000 154,000 254,000
& 100,000
02 QIRHE L&A E X 100,000 154,000 A54,000
OHUZAZHE(MBAI)
100,000,000& 100,000
& 100,000
401 AIEHIZL 28I 1,130,000 660,000 470,000
= 80,000




A ZAITH 4
M OHNGHD HElst SAIZEEH
Gl CAIZHYA A EX(ZAITHA) (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,050,000
01 AlZ2H| 1,130,000 660,000 470,000
ossizl x4 1,060,000,000! 1,050,000
OSETU +HAY
80,000,000 *13] 80,000
< 80,000
A0IXA (LB E) ZIIHEE TAITHAAMY 218,060 254,000 A\35,940
== 72,500
Al 145,560
201 =3 103,060 124,000 A20,940
< 57,500
Al 45,560
01 At2t2ltl 20,940 37,200 16,260
OZOIZAINY AHEE= A
7,500,000& 7,500
= 7,500
OZ0ISSHHEANE =A2clh 13,440
—A0AESL = 160,000 6 960
—20IHES2 Fa
320,000& * 128 3,840
—&o|erd2ke| 120,000« 12& 1,440
—agord e 200,000 122 2,400
-5 2el 240,000 x 122 2,880
— 013 160,000 * 122 1,920
02 s3=gHl 156,120 16,800 1,680
OZ0IXNSE ZAINY HEAE SS2EH] 15,120
—&JIRes 990,000 * 122 11,880
—& - ot e3 180,000& * 12 2,160
—Setl S 90,0003 x 12 1,080
03 &A= 67,000 70,000 A3,000
Od=d === 50,000,000& x12] 50,000
== 40,000
Al 10,000
O20| Ot=2cl AHgsSEE 288
17,000,000& * 13} 17,000
= 10,000
Al 7,000
307 @120l & 25,000 40,000 /15,000
s 15,000
Al 10,000
02 LB AANHEE 25,000 40,000 215,000
OXNsgdst JI= & 2
15,000,000 * 12l 15,000
& 10,000




SA: SAITHA D
M OtMGHD Helst TAIZEYd
Gl CAIZHYA A EX(ZAITHA) (o) &)
SA - A - S9I(E) - HIRAY - BES o &t e HIDE2
Al 5,000
O&0| Ot=2el AtzlHgstg 29|
10,000,000& *12 10,000
< 5,000
Al 5,000
401 AlIEHIZL 2 OHYI 90,000 90,000
01 AlIZHI 90,000 90,000
O=SCIXtRI(2HE) HE AN
90,000,000& 13 90,000
THRES(ZAITHA 1) 94,000 1,738,000 A 1,644,000
SEXS(ZAITHA) 94,000 1,738,000 A1,644,000
BHEt=2D|E 94,000 0 94,000
802 Btet= DI Et 94,000 0 94,000
02 Al - EHIEX=SEtet= 94,000 0 94,000
OEAMMEEs A= =AY Tl
90,000,000& 90,000
O AUt A& =AY OIXt
4,000,000& 4,000
Y2 ZHI(SAITHA D) 492,118 582,533 A90,415
QIH2EHI(ZAITHS) 492,118 582,533 A90,415
el 133,732 128,729 5,003
101 2124d| 133,732 128,729 5,003
02 JIEtX E == 133,732 128,729 5,003
OZAITHEXIZHE SIHSRE 22| 126,3%
—JIE23U3) 4,381,000 1+ 123 52,572
—Jl2=(t3) 3,763,000 1~ 123 45,1%
-5 80,0002 ~2&~12& 1,920
—NZE R (L2)
250,000 *35/40+1H« 128 2,625
—AZEXZHI(CS)
185,000 #35/40+1H 128 1,943
—EAZAHI 140,000 x2H 122 3,360
— I AEI(US)
4,381,000 *84%+86%+1/30%1/7x1H x70AI 2+
1,055
— 2 AHI(CE)
3,763,000 «84%+80%+1/30%1/7x 1B +70Al 2+
907
—AlZtI222(U3)
13,0002 12 +28A1 2H+ 123 4,368
—AlZ2I22=g(02)
11,7002+ 1Z+28A1 2+ 128 3,932
—SAR2ag(L=)
4,381,000 *40/35+84%+8%* 122 4,038
—SEARg(0=)
3,763,000 *40/35+84%+8%+ 18 122 3,468
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SAM: T A
. HYS2IZUI(TAITHAE DL
Tl QIZA2AHI(ZAITHAY) (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
—Here syl
50,0002 *35/40A| 2++2H * 122 1,050
OZAHMXIAAH IMESFE B2 7,338
—HZEH 126,394,000 x3.545% 4,481
—LoEIIQUYTH
4,480,6673 %12.95% 581
A==t 126,3%4,000& *1. 8% 2,276
AI2SXNE TAHY mEAE lE223A| 61,972 114,554 NB2,582
101 @l H| 61,972 114,554 A52,582
02 JIEt& &2 61,972 114,554 Ab2,582
Ot =2=2=8EX3MdH INH3FE oA
]l 58,571
-J|123(03) 3,763,000& x1Fx 128 45,156
—IE==g 80,0003 x 1+ 12& 960
—AZEXHI(CR)
185,000 *35/40+1H » 12 1,943
—Z UG Al 140,000 x1H + 122 1,680
—ADIEAEI(CHS)
3,763,000 #84%*86%+*1/30%1/7x1H+70A| 2t
907
— ANzt 222(02)
11, 7002+ 1 «28AI 2t 12 3,932
—S$A22EH(TF)
3,763,000 40/ 35+84%*8%* 122 3,468
—Herg syl
50,0002 *35/40AI 2H 1 x 12& 525
OdZ2=2ssZXMH MR 2
= 3,401
—H2EH 58,571,000 *3.545% 2,077
Lo RAEE
2,076,342 x12.95% 269
L ===k 58,571,000 *1.8% 1,055
DAX A (Ler22IS) TAITHA S S AR (2124H]) 119,463 169,625 A0, 162
101 el t| 119,463 169,625 A50, 162
02 JIEt& 2 119,463 169,625 A0, 162
OLDZEEXAHEH IMISFE | 112,908
—J|23(t=) 3,763,000 x 1B+ 122 45,156
—J|l23(e2=2) 3,476,000 x1F+ 128 41,712
—IE==g 80,000 =2+ 12& 1,920
—2ZEXH(C3)
185,000 *35/40x1H « 122 1,943
—AZEXH(2I3)
180,000 *35/40%1H 12 1,890
—ZAZAH| 140,000&2E x 122 3,360




SAM: T A
. HYS2IZUI(TAITHAE DL
Tl QIZA2AHI(ZAITHAY) (SH &)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
— SIS A (CH2)
3,763,000 #84%*80%+*1/30%1/7+1H+70A| 2t
907
—JIB A (2t2)
3,476,000 *84%+86%*1/30%1/7x1H 70 A| 2+
838
—AlZ2te|2222(03)
11, 7003« 1H#28A1 2t 12 3,932
—ANzZel2e=(2t2)
10,5002 * 1 +28A| 2t 12 3,528
—SARLAY(UD)
3,763,000 *40/35%84%+8%* 15+ 122 3,463
—s4E24g(212)
3,476,0002 *40/ 35+ 84%+8%* 1 x 123 3,204
S HEE=E]
50,0002 *35/40A| 22 * 12& 1,050
OLZHTXNAMH INSFRE EE= 6,555
—H2EH 112,908,000 *3.545% 4,003
—LOoIRAEH
4,002,589 %12.95% 519
L=k 112,908,000 *1. 8% 2,033
2SS E TAITMAIY olzd2AY|(l24H]) 176,951 169,625 7,326
101 eI H| 176,951 169,625 7,326
02 JIEt& &2 176,951 169,625 7,326
ORAESSHT XM LIIHSRA 21| 167,243
=Jl2a2(t=3) 3,763,000 x 1B+ 122 45,156
=Jl2z(23) 3,476,0002 2B+ 128 83,424
—IE==g 80,000 x3Y*12& 2,880
—XZBEXHI(CHE)
185,000 *35/40x1H » 12 1,943
—AZEXH(2t2)
180,000 & +35/40=2H 128 3,780
—ZAZAH| 140,000& +3E x 122 5,040
— SIS A (CH2)
3,763,000 *84%+86%*1/30%1/7x1H+70A| 2t
907
— I A (2t2)
3,476,000 *84%+86%*1/30%1/7x2H ¥ 70| 2+
1,675
—AlZte|224(03)
11, 7003« 12 #28A1 2t 12 3,932
— ANzl 22=2(2t2)
10,5002 2 *28A1 2+ 128 7,056
—SaxeLg(03)
3,763,0002 *40/35*84%+8%+ 1+ 122 3,468
—SAHPLL(RID)
3,476,000 *40/ 36+84%+8%+2H » 12 6,407




SAM: T A
. HYS2IZUI(TAITHAE DL
CHol: Q112 AH| (T AITHAY) (o ®el
2 5 I
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
—Here syl
50,0002 *35/40A1 23 * 12& 1,575
OAESSHENANEH LIHESRE B&8E= 9,708
—HZEH 167,243,000 x3.545% 5,929
—LoEIIQUYTH
5,928, 7643 *12.95% 768
A==t 167,243,0002 *1. 8% 3,011
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